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Math 61 Spring 2006

Name:

QUIZ #2 @ 30 points

Write in a neat and organized fashion. Use a pencil. Show all work to get credit.
1.

a) Write the congruences given by the indicated measures or marks.

b) State whether from the given congruences only you may conclude that triangles I and II are congruent
c) If so, write SSS, ASA, AAS, SAS as appropriate.
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2 A triangle ABC is given.
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Draw a scalene triangle.

Write three inequalities involving the sides of the triangle.

#B < pC +CA
BC < AC + A8
AC L AL+ BC

Write an- e@olving the angles of the triangle. 4 < A+ m< 8 L (C - /fO

Write an @laﬁng an exterior angle (mark it on your drawing) to the interior angles of the triangle.
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Write one @elaﬁng the exterior angle to an interior angle of the triangle.
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Draw the bisector of angle 4 , hame it AM and state , using mathematical notation, that AM is the
bisector of angle 4 (what does it mean?).
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Draw the altitude from vertex B to the opposite side, name it BN and state, using mathematical notation,
that BN is an altitude (what does it mean?)
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Draw the median from vertex C, nane it 5, and state, using mathematical notation, that CP is a median
(what does 1t mean?).
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Draw the perpendlcular bisector of side AB ane it /, and state, using mathematlcal notation, that / is the ~

perpendlcular bisector of AB (what does it mean?).
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4. Write the theorem that justifies each statement. Refer to the given figure.
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5. Give the formal proof of the following:
SO: ' 2
Given: a ABC\/vith vertex A.
AD bisector of angle A, DeBC ,
Prove: AD is a median. ‘ /
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6. In an isosceles triangle ABC with vertex 4, each base angle is 72 degrees smaller than the vertex angle. Find the
measure of each angle.
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